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The figures in the margin indicate full marks for the questions]

)< The unit of rate constant for a Zero order reaction is - 1
@H St @ L2M2St (i) MolL St |
~2,./ Give the relationship between molar conductivity and specific |
conductivity, 1 |
A ARl I R[fER AfRrerm sramc! f | |
3. What will be the impact on K¢ when the molality of a solution
is doubled? , R |
b1 I TR G2 10 K 1 eoiwe & o »ifae |
j./ Why are Zn, Cd and Hg normally not regarded as transition metals? 1

ALFICS Zn, Cd 9<% He 3 68 A<aeTie 4 3fe [iavat =t

«2q?
_A. Give one example of Co-ordination compound which is used in
medicine. 1

GG FATS A2 1 61 T 19 iR |
6/ Predict the order of reactivity of the following compoundsin S 1
reaction. 1
weTe Tl (TR S, 1 R eifs Afermorm @ sdiae 1 -
CH,CH,Br, C,H;CH(C,H)Br, C H, CH (CH,) Br

7. Write the equation involved in Kolbe's reaction. 1
%'=q TR A i FRee el |
8. Name thereaction: - - 1 |
(i) X, / Red Phosphorus R - CllH - COOH |
- R-CH,-COOH ) H0 > i

X =ClL,B
( Y pro.



L(2)-

ffera A o ¢
@)X,/61¥@IZ  R-CH-COOH
R-CH, - COOH @ Hy0 > )l( ek
i | | (X=CLBr)

9. How will you convert Benzene into Aniline? el
e affEmeE R ofRada st e .

10 at products would be formed when a nucleotide from DNA. -
containing thymine is hydrolysed ? | 1
AwTE DNA T 2 AR RS EerBIRT Gfiee Gefeeel JoieT
[EASRCIACIEEUE:

11. The freezing point depression constant for water is 1.86°Cm™. If
5.0 gof Na,SO, isdissolved in 45 g of water, then freezing point is
changed by 3.80° C. Calculate the Van't Hoff factor for Na,SO,. 2
AT RIS ST &< T 020% 1.869 Crn! i 45 g AI® 5.0 g
Na,SO,7dgs 4! 77, (903 &1 3.80° C (=1 oS o | dfem
Na,SO, T (6 T& @I T F 3311 |

Or/ A2l | ' |

/Swé Henry's law. Why do gases nearly always tent to be less soluble

in liquids as the temperature is raised? 2,
CE R Tas! Berd 4 | Bweel 3 T (IR i O [
wifs o ARt TaTg© ZW 2 |

/L}.' The standard electrode potential for Daniell Cellis 1.1 V. Calculate
the standard Gibbs energy for the reaction : ALY
(SREE @R g R w 1.1 V 2@ Fesre RGios e
Nz *([&7 RS a1 1 - |
Zn(s) + Cu*(aq) — Zn*(aq) + Cu(s)

Or/ gl

Write down anode and cathod reaction for galvanic cell formed by

the reaction. Zn(s)+2Ag'(aqQ) — Zn* (aq)+2Ag(s).

Also express the cell. 1+1=2

b O2A8 @) o Zn (ag)+ 2Agl) R TR R
L Gl eSS (FIRE AT S (S f[JfE | i (@
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- Define rate of areaction. Establish the rate equation forfirst order

reaction. 1+2=3

RESIE eptors (=1 2 29 TR R oifs srieset afesl 4|

What is meant by 'disproportionation’ of oxidation state? Give an
example.

1+1=2
(S B SRZR STl S e e Rie <o Siael |
Or/ iz
Explain why Cu* ion is not stable in aqueous solutions ? 2
T 7w Cu R o1 g o1t <41

Pcﬁne Ligand. Write JUPAC name of [Pt (NH,), CINO,)] 1+1=2
TS IS @it ? [Pt (NH,), Cl (NO,)] S [UPAC 1% f&1al |

(a) Name the reaction 1+1=2
fferas i ¢
X
2 ©/ +2 Na Dry ether +2NaX
Diphenyl
(b) Which compound wil undergo faster S, 1 reaction? &
Cl Cl (2 x€
4\ o W =J1
(I (TR 7 S, 1 Rfeemi sifemel sidios g2 1276
Cl Cl s 17
/}\ {55 \A/
(a) How phenol is obtained from aniline? 1
TR 2131 et it errs e
Or/ =134 D ==

Convert phenol to picricacid,

2 - ]
Ww-%wﬁmaﬁm Ko
(b) WritctheIUPACnameof .
IUPAC 713 f32 - 1

H3C CH3

Cjoocsz

PTO.

1€ |
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-(4)- ).
Or/# %Al -
)isdissolved in 1 Kgof waterina

18. @) Distinguish between Aldehyde and Ketone byoxidation. 2
WWWWWWWI : 18 g of glucose (C;H, O,
(il) ;%lglete tl:; reaction (any two) : 141=2 saucepan. At whast ;e;{nlferanlxrle will water boil at 1.013 bar?
: A (R H for water is 0. gmol!.
WCOOEI 0 | g%mmmgﬁ?:al gﬁ*@(cﬁfjupémm
® ©:COOH+NH3 =7 2'e71 1.013 bar 51%% 300! Garele Gufea ? AR K, T
T 0.52 K kgmol' | 2

B¥  CH, CHO 9 .
(c) CHg COCH ok State Raoult's law. A solution of glucose water 1s labelle.d as
Ree, N ’ mz ! 10% (w/w). What would be the mloality and mole fraction of2
each component in the solution?
23" 1 T 1 B3 Al 1 0% (W/W)

.- KMnO,/H,s0

@ O — 41595 772001 B 3 |

19. (a)Write short notes on Hofmann d i T AT i R kol =

egradation. 1 22. (a) WhatisFaraday? State Faraday's first law of Electrolysis.
TF SRANAS (O1t ferlt ' ' 1+1=2
: . OfA e RIS T 1T ¢ (TS Ry, R efer gt |

Arrange the following in decreasing order of their basic strength : 1 9 Calculate the P* at which the potential of hydrogen electrode

2

will be 0.059 V.

WWWW 3] QYIS AOSTHI -
€, H, %3G o RAeard Ree 17 0.059 V T pHYR fFH T3

NH,, GC,H,NH,, (C,H),NH, NH,
. (b) Pk, ofaniline is more than that of methylamine. Why? 1 i 41 |
fR2iZe uiZAR oo GffEma Pk, I T 1 @fr K Or/A73a1

. (a) Whatare essential and non-essential amino acids? Give one _ .
[+1=2 Calculate the equilibrium constant of the reaction
(s)+2Ag' (aq) — Cu?(aq)+2Ag(s); E°(Cell)= 046V

example of each type.
Wﬁww"@w‘ﬂﬁ“ «fRw 2 efoRe i ArIE RERIA A 298 K Gavere i) £33 T sl 91 -
(b) Writethe : roducts on the treatment of D-glucose with Hl and Cu(s)+2Ag' (aq) - Cu*(aq)+2Ag(s); E°(Cell)=0.46V
. N P g g (c) Explain how rusting of iron is envisaged as setting up of an
romine water. . 2 :
electrochemical cell. ) P
. R e e z
Dilrcose?ﬁﬁmmaﬁ“ﬁ A 51 Rgye IPTRR (PT TR TTICE SBFR TR 2l
21/ (s Calculate the mole fraction of ethylene glycol (C, H, O,)ina SHCTRITE S e e o Mt
2 2 23. For areaction, A+ B Product ; the rate law is gi
. .o oo 9 , ;  givenhy
solution containing 20% of C, H, O, by mass. r=k[A]": [B]%. What s the order of the reaction?” - 1
o =4 (C, H, 0,) & d5re ' O R ens
w1 f2piTel 20% sivor e 8% e (C, H, 0,) A+B RfFrers smief; @ RiFmoR A @ 0 - .-

r=k[A]" [B] ¥t RtPanb @ R 247 . pro

= KA @73’;@
i | %,\ x = (/7: 974

SRFH i3 7o s e 11 =0
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}M/A first order reaction is found to have g rate constant
k=55x10"S" Fing the half life of the reaction, ’ 2
A/ T R 9B 1 e g | 5.5% 10M §1 5
RRAISR S et Ry 31 '
Or/iZay
Show that ina first order reaction, time required for completion
of 99.9%is 10 times of half-life (t;,z) of the reaction, 2

TS QAL T3 K1 G54 99.9% 704y e e

TG 11 3750 R e 6 ey [half-life (1, )] A%z |
24. (a) Comparethe chemistry of the actinoids with that of lanthanoids

with reference to electronic configuration and oxidation states, 2

mmwwmm@mmm

AT 4 gt w4t |
“Whyis Cr* reducingand Mn* oxidising when both have
d* configuration? 2

Cr? 9% Mn* T GSH(I d* ST R <! scee Cr2t

@ R 9 Mn? @ G 43 fam crgama e
25. (a) Whatis spectrochemical series? Explain the difference between

aweak field ligand and strong field ligand. 2
CHATGPNART QIN [ 2 3y e Fislie o €17 oo fFrates
#1211 4 |
Or/7iZat
Discuss the nature of bonding in metal carbonyls. 2
1G9 P ({1576 W &GS @M=t 41|

‘9/[&' (NH,), J** is paramagnetic while [Ni (CN),]* is
diamagnetic. Explain why? 2
[ Cr (NH,), I** Sy =313, SHEITe [ Ni (CN), ] Sopaa;

217 IS Y17 |
26. (a) Why is sulphuric acid not used during the reaction of alcohols

with KI ? 1
GETRRIZER (TS K1 3 RfEare gafee e ufRs 73 3az[ 31

g e PTO.

|
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(b) Write the products of the following reactions (any two)
farari 461 ffzam ffarars And fat ¢
)] CH]-CI—{Z-CH=CH1+HCI - ?

~ CHy -C=CHy + HBr _Peroxide ?
W e
Heat
7
@ () +Br, Tyiight y 1
i i ent?
27. (a) How2°acloholis prepared from Grignard reag ?
. T RT3 2141 FTILE 20 GALEIZA EES as‘ ﬁafReimer-
(b) Write short notes on Williamson ether synthesis o .
emann reaction.
g‘m ferat :ﬁ%ﬂﬂ%ﬁmﬂw B RIES R IETI oL as
I v to distinguish between Propanal anc:

28. (a) Givesimple chemical test
Propanone. ‘
AT S ol TS AL TYRRTE JIFIGILE =
AR o .
(b) Describe the following (Any one):

were frarar a1 2 (R <o) 3
(i) Crossaldol condensation (%2 (Cross) g=T&= LSRR

(i) Cannizzaro reaction. (@R RT3t

) 2
29. (a) AidentifyA and B
A9 B fortre =t -
NH, NaNO,/Hcl 1.0

Q7 " e A2

(b) ConvertAnilineinto 1,3, 5 - tribromobenzene. 1
«fifFme 1, 3, 5 - HRevEEGHE ARad T4

.

y./ What are the different types of RNA found in the cell?
(1@ (AR RNA 7 fRifen eomm & &2
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